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 khfhzf; fy;tpj; jpizf;fsk ; 

tlf;F khfhzk; 

gapw;rpg; guPl;ir − 𝟐𝟎𝟐𝟑 

  juk; -  𝟏𝟏                                     fzpjk; 𝐈     

Neuk; - ,uz;L kzpj;jpahyak; 

 

 

 

 

  

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

           

 

 

 gFjp   tpdh vz;   Gs;spfs; 

guPl;rfupd; cgNahfj;jpw;F khj;jpuk; 

   A       1 −  25  

      1        

      2        

      4        

      3        

      5       

B 

      nkhj;jk;        

Kf;fpak; 
 ,t;tpdhj;jhs; 𝟖 gf;fq;fisf; 

nfhz;lJ. 
 ,g;gf;fj;jpYk; %d;whk; gf;fj;jpYk; 

Fwpj;j ,lq;fspy; ckJ 
Rl;nlz;izj; jpUj;jkhf vOJf. 

 Vy;yh tpdhf;fSf;Fk; 
,t;tpdhj;jhspNyNa tpil vOJf. 

 tpilfis vOJtjw;Fk; 
mt;tpilfisg; ngw;w tpjj;ijf; 
fhl;Ltjw;Fk; xt;nthU tpdhTf;Ff; 
fPNoAk; tplg;gl;Ls;s ,lj;ijg; 
gad;gLj;Jf. 

 tpdhf;fSf;F tpil vOJk;NghJ 
cupa gbKiwfisAk; rupahd 
myFfisAk; fhl;Lf. 

 fPo;f; Fwpg;gpl;lthW Gs;spfs; 
toq;fg;gLk;. 
gFjp 𝐀 ,y; 
xt;nthU tpdhtpd;; rupahd tpilf;F 
2 Gs;spfs; tPjk; 

gFjp 𝐁 ,y; 
xt;nthU tpdhtpd;; rupahd tpilf;F 
10 Gs;spfs; tPjk; 
 

 

…………………… 

guPl;rhu;j;jpapd; ngau; 

……………………… 

Rl;nlz; 

 

 

 

 

 

 

 

 

 

Mrpupau; ngau; …………. 

Mrpupau; xg;gk;…………. 
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gFjp 𝐼 (𝐴) 

1. Fwpj;j tif kpd; cgfuzk; xd;wpid ,wf;Fkjp nra;tjw;fhd jPu;it 65% 
MFk;. jPu;it nrYj;jpa gpd; Fwpj;j cgfuzj;jpd; ngWkjp &gh 330 000 Mapd; 
jPu;it nrYj;j Kd;du; mjd; ngWkjpiaf; fhz;f. 

 

 

 
 

2. jug;gl;l cUtpy; 𝑥 ,d; ngWkjpiaf; fhz;f.  

 

 

 

3. 10−2 = 0.01 vdpd; log 0.001,d; ngWkjpiaf; fhz;f. 

 

 

 
 

4. 3𝑚2𝑛, 4𝑚𝑛2 , 8𝑚𝑛 ,d; nghJ klq;FfSs; rpwpaijf; fhz;f. 

 

 

 

5. <Usp xd;W 
1

2
 kzp Neuj;jpy; 2𝑘𝑚 J}uk; gazpf;Fk; vdpd; mjd; fjpapidf; 

fhz;f. 

 

 

6. 2𝑥 + 1 ≤ 9 rkdpypapd; Neu; epiw vz; jPu;Tfis vz;Nfhl;by; Fwpj;Jf; fhl;Lf. 

 

 

 
7. fhuzpg;gLj;Jf.   2𝑥2 − 3𝑥 + 1 

 

 

 
8. jug;gl;l ntd;DUtpy; epow;wpa gpuNjrj;jpid 

njhilf; FwpaPl;by; vOJf. 

 

 

 

130° 

𝑥 

𝑃 𝑄 

𝜀 
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9. Fwpj;j Ntiy xd;iw nra;J Kbg;gjw;F 18 kdpju;fSf;F 4 ehl;fd; 
NjitahFk;. ,t; Ntiyia %d;W ehl;fspy; Kbg;gjw;F Njitahd kdpju;fs; 
vj;jid Ngu;? 

 

 

 

 
10. xUq;fpirAk; Kf;Nfhzr; Nrhbia vOjp 

xUq;fpirAk; re;jug;;gj;jpidAk; fhz;f. 
 
 
 
 
 
 

11. 
1

3𝑦
−

1

4𝑦
=

5

12
 jPu;f;Ff.  

 

 

 
 
 

12. Neu;NfhL 𝐴𝐵 apd; rkd;ghl;bidf; fhz;f.  

 

 

 

13. cUtpy; 𝐴𝐵̂𝐶 ,d; ngWkhdk; ahJ? 

 

 
 
 
 
 
 

14. cUtpy; 𝐵𝐶 =  26𝑐𝑚 vdpd; 𝑋𝑌 apd; ePsj;jpidf; fhz;f.  

 

 

 

 

 

15. √28 ,d; Kjyhk; mz;zsTg; ngWkhdkhf miktJ vJ? 
 

(i) 5.9  (ii) 5.3  (iii) 5.1 
 

70° 

50° 

𝐴 

𝐵 𝐶 

70° 50° 

𝑅 

𝑃 𝑄 
50° 

60° 

𝑋 

𝑌 𝑍 

0 

3 

4 

𝐴 

𝐵 𝑥 

𝑦 

𝑜 

𝐴 

𝐵 

𝐶 

𝟏𝟑𝟎° 

𝐴 

𝑋 𝑌 

𝐵 𝐶 𝟔𝟓° 

𝟔𝟓° 
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16. jug;gl;l Miur;rpiwapy; tpy;ypd; ePsj;jpidf; fhz;f. 

 

 

 

 

17. 𝐴𝐵 = 25𝑐𝑚, 𝑂𝐵 = 12𝑐𝑚 vdpy; ehz; 𝐶𝐷 ,d; ePsj;jpidf; fhz;f. 

 

 

 

 

18. cUis tbtg; ghj;jpuk; xd;wpd; tis gug;G 660𝑐𝑚2 MFk;. mjd; mbapd; gupjp 
44𝑐𝑚 Mapd; cauj;jpidf; fhz;f. 

 

 

 
 

19. [
2 −1
3 −4

] + [
𝑥 −1
4 𝑦

] = [
5 −2
7 −7

] vdpd; 𝑥, 𝑦 ,d; ngWkhdj;jpidf; fhz;f. 

 

 

 

20. cUtpy; 𝑥 ,d; ngWkhdj;jpidf; fhz;f. 

 

 

 

 

21. 𝐴, 𝐵 vd;gd rhuh epfo;r;rpfshFk;. 𝑃(𝐴) =
2

3
 , 𝑃(𝐵) =

3

5
Mapd; 𝑃(𝐴 ∩ 𝐵) If; fhz;f. 

 
 
 
 
 

22. cUtpy; 𝑃𝑅̂𝑄 = 55°, 𝑃𝑅 tpl;lk; vdpy; 𝑄𝑆̂𝑅,d; ngWkhdj;jpidf; 
fhz;f. 

 

 
 
 

 

𝟔𝟎° 

𝑜 

𝐴 

𝐵 𝐷 𝐶 

35° 

40° 

𝑥 

𝑜 

𝑆 
𝑅  

𝑄 
P 



5 
 

23. 22,26,28,29,31,33,35,37,37,39,40 vd;Dk; vz; guk;gypd; fhyiz ,il tPr;rpidf; 
fhz;f. 

 
 
 
 
 

24. cUtpy; jug;gl;l juTfspy; ,Ue;J gf;fk; 𝐵𝐶 ,d; ngWkhdj;jpidf; 

fhz;f. (𝑐𝑜𝑠 60 =
1

2
) 

 

 

 
25. 𝐴, 𝐵, 𝐶 Mfpa Gs;spfspd; epiyfs; cUtpy; fhl;lg;gl;Ls;sd.Gs;spfs; 𝐴, 𝐵 

Mfpatw;wpypUe;J rkJ}uj;jpYk; NfhLfs; 𝐴𝐵, 𝐴𝐶 vd;gtw;wpypUe;J 
rkJ}uq;fspYk; mikAk; Gs;sp S ,d; ,l miktpidf; Fwpj;Jf; fhl;Lf. 

 
 
 
 
 
 
 
 
 
 
 
 

gFjp 𝐼𝐼 (𝐵) 

1) Fwpj;j jpdj;jpy; jghyfk; cd;wpw;F te;j fbjq;fspy; 
3 

8
 gq;F gjpTj; 

jghy;fbjq;fSk;> 
1

4 
 gq;F rhjhuz fbjq;fSk; MFk;.  

I. Fwpj;j jpdj;jpy; jghyfj;jpw;F fpilj;j gjpT kw;Wk; rhjhuz 
jghy;fbjq;fspd; vz;zpf;if md;iwajpdk; jghyfj;jpw;F fpilj;j nkhj;jf; 
fbjq;fspd; vd;d gpd;dkhFk;? 

 

II. vQ;rpa fbjq;fspy; 
1

3
 gq;F mjp Ntff; fbjq;fs; vdpd; jghyfj;jpw;F te;j 

nkhj;jf; fbjq;fspy; mjpNtff; fbjq;fs; vd;d gpd;dkhFk;? 

 

III. vQ;rpa 360 fbjq;fs; ntspehl;Lf; fbjq;fs; vdpd; jghyfj;jpw;F te;j 
nkhj;jf; fbjq;fspd; vz;zpf;ifiaf; fhz;f. 

 

IV. gjpTj;jghy;fSf;fhf toq;fg;gl;l Kj;jpiuapd; %yk; md;iwa ehs; fpilj;j 
tUkhdk; &gh 11340 vdpd; gjpTj; jghy; fbjq;fSf;fhd Kj;jpiu xd;wpd; 
ngWkhdj;jpidf; fhz;f. 

 

 

𝐶 

𝐴 𝐵 

60° 

A 

C B 
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2) nrt;tf tbtj; Jzp xd;wpypUe;J 14𝑐𝑚 MiuAila fhy;tl;l Miur;rpiwg; 
gFjpfs; ,uz;L cUtpy; fhl;bathW ntl;b mfw;wg;gl;L vQ;rpa gFjp 
myq;fhuj;jpw;fhf vLf;fg;gl;lJ. 
I. Miur;rpiwg; gFjpfs; ,uz;bdJk; 

gug;gsTfisf; fhz;f. 

 

 

II. nrt;tf tbtj; Jz;bd; gug;gsthdJ 
Miur;rpiwg; gFjpfs; ,uz;bdJk; gug;gstpd; 5 
klq;F vdpd;  𝐴𝐵 ,d; ePsj;jpidf; fhz;f. 

 

 

III. myq;fhuj;jpw;fhf vLf;fg;gLk; gFjpapd; 
gug;gsitf; fhz;f. 

 

 

IV. myq;fhuj;jpw;fhf vLf;fg;gLk; Jzpiar; Rw;wp ,Nwe;ij xd;W 
nghUj;jg;glTs;sJ vdpd; ,jw;Fj; Njitahd ,Nwe;ijapd; kpff; Fiwe;j 
ePsj;jpidf; fhz;f. 

 

 

 

3) &gh 50 re;ijg; ngWkhdkhff; nfhz;l fk;gdp xd;wpd; gq;Ffs; 1500 ; If; 
nfhs;tdT nra;j xUtUf;F KjyPl;by; 40% tUkhdkhff; fpilf;fpd;wJ. 

i. mtu; gq;Ffspy; KjyPL nra;j njhifiaf; fhz;f. 

 

 

ii. mtuJ Mz;L tUkhdk; ahJ? 

 

iii. gq;F xd;wpy; fpilf;Fk; gq;F ,yhgj;jpidf; fhz;f. 

 

 

iv. mtu; gq;Ffspy; ,Ue;J fpilj;j tUkhdj;jpidf; nfhz;L cs;Suhl;rp 
rigapdhy; Mz;Lg; ngWkhdk; &gh 80000 vd kjpg;gpl;l jdJ tPl;bw;fhd 
,iwtupiar; nrYj;Jfpd;whu;. mjd; gpd; ,tuplk; &gh 26000 kPjpahf ,Ue;jJ.  

a) mtu; nrYj;jpa Mz;L tupj; njhifiaf; fhz;f. 

 

b) cs;Suhl;rp rigapdhy; mwtplg;gl;l ,iwtupr; rjtPjj;jpidf; fhz;f 

 

𝐴 
𝑄 𝐷 

𝐵 𝐶 

𝑃 𝑅 
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4) fpuhkk; xd;wpYs;s FLk;gq;fspd; khj tUkhdk; gw;wpa jfty;fs; tl;ltiuG> 

tiuAU tiuak; vd;gtw;wpy; fhl;lg;gl;Ls;sJ. 

                     

 

 

 

 

 

 

   

                

 

 

 

 

 

i. 0 − 20000 khj tUkhdjpidg; ngWk; FLk;gq;fspd; vz;zpf;if 18 vdpd; tl;l 
tiugpidg; gad;gLj;jp 20000 − 40000 khj tUkhdj;jpid ngWk; 
FLk;gq;fspd; vz;zpf;ifiaf; fhz;f. 

 

 

ii. tiyAU tiuaj;jpidg; gad;gLj;jp 40000 − 100000 Fwpf;Fk; Miur;rpiwf; 
Nfhzj;jpidf; fhz;f. 

 
 
 

iii. tl;l tiugpidg; gad;gLj;jp 100000 − 140000 I tif Fwpf;Fk; Miur;rpiwf; 
Nfhzj;jpidf; fhz;gjd; %yk; tiyAU tiuaj;jpidg; ”uzg;gLj;Jf. 

 

 

 

iv. fzf;nfLg;gpy; Vw;gl;l jtW fhuzkhf khjhe;j tUkhdk; 30000 ,idg; ngWk; 
6 FLk;gq;fs; 40000 − 100000 tUkhdk; ngWtjhfg; gjpag;gl;Ls;sJ. jtiwj; 
jpUj;jp kPz;Lk; rupahd tl;ltiugpid tiuAk; NghJ 40000 − 100000 ngWk; 
FLk;gq;fspd; vz;zpf;ifia tif Fwpf;Fk; Miur;rpiwf; Nfhzj;jpidf; 
fhz;f. 

 

 

 

60° 

0 − 20000 

20000 − 40000 

40000 − 100000 

100000 − 140000 

80° 
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32 

16 

20 

12 

8 

4 

24 

28 

vz;zpf;if 

khjtUkhdk ; 

&ghtpy; 
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5) xU khztu; Fohkpy; 5 khztu;fs; cs;sdu;. mjpy; 3 Mz; khztu;fSk; 2 
ngz; khztpfSk; mlq;Ffpd;wdu;. mtu;fis ,U tpisahl;L epfo;Tf;fhf 
njupT nra;a Ntz;bAs;sJ. xU khztu; xU tpisahl;by; khj;jpuNk gq;F 
gw;w KbAk;. 

i. Tpisahl;L epfo;tpw;fhf khztu; njupT 
nra;Ak; epfo;r;rpf;fhd khjpupntspia 
jug;gl;l nea;aupapy; Gs;sb(" × ")  ,l;L 
tif Fwpf;f. Mz; khztu;fs; 𝐵1, 𝐵2, 𝐵3 
vdTk; ngz; khztu;fis 𝐺1,𝐺2 vdTk; 
fhl;lg;gl;Ls;sJ. 

 

 

 

 

 

 

 

ii. KjyhtJ tpisahl;by; Mz; khztidAk; ,uz;lhtJ tpisahl;by; ngz; 
khztpiaAk; njupT nra;tjw;fhd epfo;tpid nea;aupapy; Fwpj;Jf; fhl;b mjd; 
epfo;jftpidf; fhz;f. 

 

 

 

iii. Nkw;Fwpj;j epfo;tpw;Fupa xU ”uzkw ;w kutupg;glk; fPNo jug;gl;Ls;sJ. Xj;j 
epfo;jfTfisf; fhl;b kutupg;glj;jpidg; ”uzg;gLj;Jf. 

 

 

 

 
 
 
 
 
 
 
 
 

iv. ,t; tpisahl;L epfo;tpy; xU ngz; khztpahtJ njupT nra;ag;gLtjw;fhd 
epfo;jftpid kutupg;glj;jpidf; nfhz;L fhz;f 
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